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1. Conglder the following statements !

1, The Governor of the Reserve Bank
of Indis [RBI} ia appainted by the
Cronitral Government.

2., Certain Provisgions in the
Constitution of Intlin  give the
Central Government the rightl ta
fsaue directions to the RBL in public
inferest.

3. The Covernor of the RBI drawe hig:

power froom the REL At

Which of the sbove statoments ore
cormeci?

fet) 1 and 2 only
(B 2 pnd 3 only

&t |1 and' 3 onky
[ 1. 2 and 3

2. With refarence to casus]l  workers

emploved in  India, consider the

following statemenis |

L. Al easual workers ore  entitled
for Employees Provident Fund
COVETHRE.

4. All casusl workers are entitled
for Tegulsr working hours and
gvertime  paEyment,

3. Tha BOVETTITETL can by
a motification specily that an
establishment or mdustry shall
pey wages only through ite hank
BCCHETIY.

Which ol the sbove swlmmenis are
CoTTect?

fel 1 nnd 2 onlv
fil 2 and 3 only
fd 1 amd 3 onby
) 1, 2 and 3

BXC-U-FTHI/68A

3. Which among the [llowing steps s

migal likely to be talen at the time af
HTL COONOME redessiond

ff Cut in tax rales ncocompenied by
increase in interest rate

() Increase in expenditore on poblie
projects

fg] Increpse in fax rstes accomparfed
Iy reduchon of mterest mite

fd) Reducfion of expenditure on pubbc
projects

4. Conslder the following stalemenls :

Other things remaining unchanged,
market demand for & scod  might
increase: if

l. priee of its substitute increases

2. price aof it$ comploment incroases

d. the good iz sn nferior good and
Irtcamie of the conmumers increases

4, ils price falls

Which ol the above statements are
correely

faj 1 and & anlv
fil 2, 3 and 4
fe) 1, 3 and &

fd} 1, 2-and 3

| B.T.O
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B. With reference {o WUrban Cooperative

Banks' m Ind:s, consider the following
stataments |

1. They am uupurn-ia:id.- and-rogulsted
by local boards set up by the
Stale. Govermmernts,

2. They can jgaue equity ahnres and
preference shares,

3. They were  brought under the

purview of the Banking Regulation
Act, 19409 through an Amendment
fn 1966,

Which of the statements given nbove
ls/sre correct?

fat 1 eniy

fbf 2 and 3 only

fe) 1 and'3 only

fdl 1, 2and3

Imdian Government Baond Yields aoare
influenced by which of the following?

. Actions of the Unlled States
Fadem] Regsrve

9. Actiona of the Reserve Boank of
India

A Inflstion and short-term mterest
riles

Sclect the correct answer asing the
code pwven below.

fe} 1 nnd 2 anly
fia} 2 only

fel & andy
f} 1, 2and 3

BXC-U-FTHI/68A

7. Congider the following :

1. Foreign currency convertible bonda

2. Fotelgn Anstifutionml investment
with certain conditons

3. Global depoaitory receipta

4,  Non-resident external deposits
Which of the above can be included in
Foreign Direct Investmenta?

faj 1, 2 and 3

ity 3 only

fo) 2 and 4

@ 1 and 4

8. Consider the following statements :

The effect of devalustion of 8 currency
18 that it necossanly

1. improves: the competitiveness of
the domestic exports in the foreign
markets

2 Increpses the forelgn velue of
domestic curmenecy

3. improves (he trade balince

Whith of the above statements is/are

cotrect?

fie) 1 enly
By 1 and 2

fol 3 enly
fd) 2 nnd 3
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9, Which eng of the llowing effects of
ereatiort of binck méney in India has
been the main cause of wormy o the
Oevermment of India?

fj Diverswon  of Tesouroes (o the
purchase of veal estate and
imvestment in lumiry: housing

(&} Investment ity unproductive
actviti=s snd purchase of precious
stones, jewellery, gold, etc.

fe} Large donatons to political parties
and growth of regionaliam

fd] Loza of revehue 1o the Siate
Excheguer due to 1Ax evasion

10, Which one of the following is likely to
be the most inflationary in ils effecta?

fm) Hepayment of public dobe

fil  Bomowing [rom  the public o
fnance 8 budget deficit

fel Bnrruwmg from the banks fo
finance 8 budget deficit

jd} Creation of new money to finance
8 budget deficif

BHC-U-FTHI/68A

11, The mongy multiplier in an economy
increases  with' which' one  of  the
following 2

fei}

fu}

(et}

Ineretike in the Cash Beserve Hatio
ir1 the banlks

Ineresse in the Fatutory Liguaidity
Rario in the banks

Increase in ke bhanking habit of
the paople

Increass kn the popalation of the
eountry

12, With reference {0 Indipn  -ecamomy,
demund-pull inflation can be caused/
increased by which of the following?

- B

Expansionary paolicies
Fiscal stimulas
Infatlon-indexing wagzes
Higher purchasing power
Kisintg interes) rates

Seleet the cormect answer using (he
cide given below.

i

(B

fef
(el

. 2 and 4 anly
3, % and 3 only
1,32, 3'and 5 only

1,2, 3, 4 and 5

[ PT.0.
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13, With referonce oo Indin, comsider the
following sialeiments ;

i Hetnil iovestors: {hrough demst
acoount can  invest o "Treasury
Bills" snd “Covernment of India
PDebt Bonds® in primary market

. The NWegotated Dealing Syetom-
Crder Matching' is a government
gecurities trading platform of the
Heserve Bank of India

3. The 'Central Depository Services
Lid.” is jointly promoted by the
Keserve Bank of |ndia and the
Humha_'.r Siock F:"{I'.]I.Hrjg:,

Which of the statements piven abiove
) e correcty

fal 1 omly
fiy 1 epnd 2

fed 3 oniy

fdf 2 and 3

14, With reference to "WaterGredit!, consider

the lollowing statemients !

1. It pils micmfinence tools o work
irn the wiber and rRanitalion sector,

2, It iz a glabal initintive lsunched
under the gogiv of the World Health
Urgentzation and the World Bank

4. It aims o enable the poor people
to: meet Ltheir water needs withour
depending on subsidies,

Which of the statements given above
nre corrsct?

fd) 1 and 2 only
finl 2 and 3 ankv
fel 1 oand 3 only
i 1,2 and 3

BXC-T-FTHI faga

Io Imdia, the ceatrnl bank’s fAAstios
as the flender of last resori” usually
refers (o which of the followine?

1. Lending (o trmde and [Indusiry
bodies when they fmil o borrow
from other seirces

2. Providing bouidity o the banks
having a lemporary erinds

3. Lending to povemments (o finence
tidgetory deficite

deleet the correct answer using  the
code given lelow,

f) I and 2
(B 2'only
el 2 and 3

fifl 3 only

18, 'R2 Cade al Pmactices’ conutitutes g taol

avaiahle for promoting the adeplion ol

o) enviroomentally responsible prac-
Heey: m  elecirondcs  recyeling

indiisiry
(& ecological MAnSEemeng of
Welands il [nternation]

Imporience’ under the Ramear
Conventian

e}  sustaineblé practices |n  the
culbvaton of agricultural crops m
tlepraded lanis

fd}l “Envitommental Impact Asseasmen|®
in  the exploitation of nataral
-‘L"&I”..Irl:'l_"h

| BT.O



17, W WE waE) i wi § faE o s w=n gl 19, w1 5099 = &
1. A yiwa 4§ Fq THEeRs o9

R 7 T w1 ] B -1 M T T e i
2, TEEE (Fw Er) geem 3§ W W e

gt & P (sitm) = S

R (b &1 N3 §w (AEWE) F#EOF 9 A
3, ¥ oeR TR E O e F dedliiieh

1 Frles w1 e 2

fo) =T Al W 0 N S EEE
i T8 T 2 5 TP W WEl 3 g

fa) a1 v 2 i) =R W R .
fh) e 2 ol 3

TR = A = !

ey 1,283 20, wHld A, Tt 5 8 e i w= e =Fm
¥ et wag W i e ogaiies
. L e
18, UE e (e sl oad 3, SefaiEe
s e e S 1.
1. = o vieERiE () O e a e
w ; 3. W
2. T I FR TR FE (W) I
% fon w1 R 4, @FH (TEA)
- W IYAIT T T W TR 3 =
3. o R e % fr o2 o T T 2
# B
T FA A A R fn) FEw o1 oahs
(o} FEw 134032 )
b FEE 2
I o e
2 HEa
fe] AT 1303 Ui
[y 1, 2303 id) 1, 3FT4
|
AXC-U-FTHI/68A 10



17. Wy s thete o concern ebout eopper
smelling plants?

1, They may release lethal
quantities of  carbon  manoxide
mte envirmonmment.

2. The ¢opper slag can cause the
lenching of some heavy melsls
fnfo . environmernit.

A  They may relense sulphur dioxdde
a8 a pollutant

Select the correct answer using Lhe
code given below,

fm} 1 and 2 only
fb) 2 snd 3 only
fej 1 anmd 3 only

(d) ‘1,2 and 3

18. With reference 1o furnace oil, consider
the fallowing statements ;

I. N isa prodoct of ol refineries,

2. Bome indusiries ose it to generaie
[rower,

F. Ira use canssd Cstlphiuc emissiona
mto environment,

Which of the statements ghen abovwe
Al cOrrect?

faj I-and 2 only

B 2 and 3 only

fe/ 1 and 3 only

fel} 1, 2 and 3

BXC-1-FTHI/68A

11

18, What is blue carbon?

fd) Carbon eaptured by oceuns and
coastal ecoavaising

B Carbon  gequestered i forest
biommss and agricutiural soils

(gl Carbon tontained in petroleum and
natural gas '

fd} Carbon present in atmoaphére

20. In the nsture, which of the following

iafare most likely to be found surviving
an a surface without goil?

1. Pem

@ Lichen

3. Moas

4. Mushroom

Select the correet answer usime the
code given below,

fal 1 and 4 only
(B @ orily
(g} 2 and 3

fdi 1, 3 and 4

[PT.0,
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21, Whicly one of the follawing is used in

preparing o natiral mesquito repellent?
o) Congress grass

(B} Hlephan! grass

il Lemobgrass

fell Nul griiss

23, Congder  the following. Ildnda of

arganinma

1. Copepods

2, Cyvancbacteria
3, Diatoms

4. Forammnifern

Which of the above are primary
producers in the food cheins of oceana?

fa] 1 and 2
b 2 and 3
&) 3 and 4
fed) 1 mnd 4

23, Conedor the following animaly :

1, Hedpehog
2. Marmot
3. Pangolin

To reduce the chance of being captured
by  predalors, which of the sbove

organisme rolla up/roll up and protects/
protect ita/their vidlnerable parts?

al 1 and3
i) 2 only
fe) 3 only
i) 1 and 3

EXC-U-FTHI/68A

With referance to' (he  'Wew York
Declarntion on Foreste', which of the
following stalements are correct?

l. It waa first endorsed at the United
MNatione CHmale Simmit m 2014,

4.  ltendorses a global tineline to end
the loss of forasts,

3. Itis a legally hinding intermational
deciaratinmn,

4 It s eodorsed by  povernmants,
big companies and mdigenous
communities.

5. India was one of the signatorics
gk its inoeption,

Select the ocommeot anawer using the
code given below.

fap 1, @ and 4

iy 1.3 and 3

fe} 3And'4

i} 2 omd 5

2B. Magnetite particles, suspected o

chuese neurodegenerative problams, are
generated a8 environmernilal pollutanis
from which of the following?

1. 'Brakes of motor vehicles

2.  Ergines of motor vehicles

3 Microwave stoves within homes
4. Power plants

&8, Telephone lines

Select the cormect snewer using the
code given below.

fal 1,2, 3 and 5 only
(B 1.-3 mnd 4 only
fel 3, 9 and 5 only
fd) 1,2, 3, 4 and 5

| BT.0.
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26. Whith one of the [llowing is a filter

fencker?

(@} Catfish
M Oetopus
el Owater

fed!  Prelican

27. In eare of which one of the following

biogeochemical cycles, the westherng
of rocka Ih the main soume of release
of muriant o enler the eyole?

fof | Carbot cyele
M Nitropen cycle
e} Phoaphors cyele

i) -Sudphur cvole

28. Which al the following are detntivares?

1. Earthworms
2. Jellfal
3. Millipedes

4. Beaborses

5 Wontllice

Solpet the correct mmswer using. the
code mven below,

el 1, 2 and 4 only

) 2,3, 4 and 5 anhy

fed 1,3 and 5 onlv

&) 1,2, 3, 4-anod S

BXC-U-FTHIfe8A 15

29, The Common Cerbon Metrfie', supporied

by UNEP, haz benn developed for

{a)  assesming the carbon footprinl ol
building operations: around  he
worlid

i) enabling commercial  farming
entities around the warld 16 enler
carbion emission treding

fof enabling gevernments 1o assess the
everill carban fastprint calteed tw
ther countriea

fcl] 'ssesming the overall carbog fools
prinl caused by the use aof fossll
fuels lay the world m & unit {ime

30. Which of the following have specion thap

can establish aymhbiotic relationship
with ather argucisms?

1. Cnildarlanas
2-  Fungi

3.  Protozns

Select the correct snswer using the
code given helow,
e} 1 and 2 anlv
i) 2 and 3 only
fl 1 mmd 3 oniy

fd) 1,2 and 3

[P TG
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31. With ralerence 0 Chausath  Yogind
Temple situated near Morena, consider
the following stRtements

1. Itis & cirouler temple built during
the reign of Kachohhapaghsta

Oynasty.

2. It is the only cirealar temple built
in India,

3. It was meant 1o peamole  the
Valhneava cult in the region.

4. I design has piven rise o
i popular beliel {hat i was
the inspirafion behind the ndisn
Parltament bailding.

Which of the stalements gliven above
are correct?

fa) 1 and 2

) 2 and 3 only

fef 1 8nd 4

fef} 2.3 and 4

32, Which one of the following ancient lowns
is welllmown far its elaborate system
of water harveating and managemeant
by buildmg a seres of dams and
charmelizing water into connected
reservolrd

fit} Dhalavira
o) Walihangan
fe) Ralchigarhi
fll Ropar

BXC-U-FTHI/68A
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33, In the first guarler of ‘seventeenth

century; in which of the following
wits/were the fctory/factories of the
Engiish Erst Indis: Company Incated?

1. Broach

2. Chizaeole

3.  Trichinopaly

Selegl the correct answer using the
codle given below,

fe) 1 onky

i) | and 2

fef 3 enty

id) 2 and 3

34, From fthe decime of Guptss until the

rige of Herahavardhana im the early
seventh century, which of the foliowing

kingdoma were holding power  in
Worthern, lndia?

1. The Guptas of Magadha

The Paramaras of Makws

The Pushyabhutis of Thanesar
The Maulkhsria of Kanauj

IR R S

The Yadivas of Devegiri
6, The Maitrakas of Valabhi

Select the carrect answer using the
eode giver helow,

fe 1, 2 and 5

) 1,3, 4 snd 6

fe) @, 3 and 4

fdl 5 and &

[P-T.0.
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38, Acvording o Fortupuese writer Numis,
the women in Vijayanagars Empire were
expert inwhich of the llowing arens?

1. Wrestling
2. Astmiogy

3. Aoceountihg

4, Sgothsaying

Beleot the oorroot answer using the
tode grven oelow,

bl 1, 3 and 4 only

fe)l 2 and 4 only

fef 1, 2,3 and 4

36, With  reference 1o Madonopeaile of
Andhra Pradesh, which one of fhe
following statementa is corroct?

fal Pingall Venkayva destpned the
triealour Tndian National Flag here,

(B} Pattabhi Sitaramainh Jed the Quilt
India Movemenl of Andhra resion
frum: here,

fe) Rabindrunath Tepore translaied
the National Anthem from Bengnll
to English here,

fdl Madame Hlavarsky and Colonel

Oleatt set up  headquarters  of
Thegaophical Society first Tere,

BXC-U-FTHI/GRA 1%

37. Consder the following paies ©

| Historical place) | Well-known for |
1. Burgshom : Rock-cut shrines
2. Chandra-

ketugarh ¢ Terrncolta art
3. Ganeshwar : Copper ariefacts

Which of the pairs glven above isfare
oorrectly maiched?

fa)
flal
feed

1 anly
1and 2
3 only

el 2 and 3

38, Cansider the fllowing stalements :

1.

1§ was durdng the reign of iutmish
that €Chengiz Khan reeched the
Imdus m pursait of the fupitve
Ehywarszsm prince,

It was during the reign  of
Mubammad bwino Tughiog that
Taimur gecupled Moltsn and
croased the Indus.

It wna durtng the reign of Deova
Reys [I of Vijavanagara Empire
thet Vesco da Osme reached the
coaat of Korala,

Which of the statemenis given above

ig/are corroot?

fa)
bl
fe]
fel}

1 only
1 amd 2

1 oniy
2 and 3

| P10
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40. With

39. Consider the lollowing sratements

I. 8t Francis Xavier was ane of (he
foundmg members: of the Jesuit
Ordar,

2, 8t Fraooe Kevier died i Gos and
a church is dedicated to him there.

3. The Feast of 5t. Francie Xavier Is
celebrated in Oos pach yearn

Which af the statements given above

ure poaTecl?

fia) 1 mnd 2 saly

4 2 and 3 oaly

“ 1 and 3 only

) 1, 2 and 3

refererice  lo thé histery of

proient Indi, which of the following

statements ia/are eorrect?

1, Mitakshars was the il law for
upper caztes gand- Deyabhags was
th clvil law for lower castea.

2 In the Mitakehara syatem, the sona

can claim right to the property
during: the Tietime of the father,

whereas in the Dayabhaga system,
it s only gfier the death of the
fathier that the sons ean claim Hght
t the properis.

3. The Mitakshora sysiem deals with
the matters related to'the property
held ty male members only of

A fzmily, wheress the Dayvabhapse
aystem desls with the maticrs

related to the property held by
hath' male- and femals members: af
a fEmily: i

Helapl the correc! answer ueing  the

ode - glver heloiw,

fal 1 and 2

fb) 2 only

fel 1 and 3

fdj 3 only

BXEC-I--FTHIfEEA

21

41.

43,

43,

With reference  to  the  history  of
nnciant Idia, Bhavabhuoti, Hastimalla
and Kshemestvram were lamolis

fit)  Jaln manks
fb) playwrights

fe} temple architecis

fdi philosaphern

Conaider the following siatrments

1. The Monmgu-Uholmeford- Hetorms
of 1912 recommended  prenting
woting rights to ‘all the women
above the age of 21.

2. The Oovermment of India Act of

1935 gave women rescrved scats
in legislature.

Which of the siatements given above
isfare cotrect?

faj 1 only

(bl 2 omly

f¢} Both 1 and 2
fel) Meither 1 nor 2

With referénce to Bth August, 1942 in
Indian  history, which one of the
following stilemenis = oomectl?

fa) The Quit Indin Resolution was
atdopted by the AICC,

(Bl The Viceroy's Excoutne  Couancil
wes oxpanded tfo Inchude more
Indians.

f) The Congress ministrics resigned

In seven 'pmvi'nl:z-n.

Cripps proposed an Indian Unien
with full Dominion Status once the
Second Warld War was over,

fielf

[PT.0.
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44, Who among the foliowing 18 sescomted

with E::lm:n friom Prison’, o translation
of nocient Indisn refigious  lymics: in
English?

fet)  Bal Gangadbne Tilak

o) Jawaharin! Néhr

jgl Mohandas Knmmehand Gandhi
fed) Barojini Naidu

A8 WHHH relerence (o medievel ndia, which

ane of the [ollowing Is the corroct
sequence in ascending order in 1arms
of gign?

fi) Paragans—Serkar—Suba
{h) Sarkar—Parsgano--Subn
fel Subs—Barkar—Pamigania
fdl Paragena—3Suba—Sarkor

46. Who among the following was aesoointed

us Secretary with Hindu Female School
whichh lster came D be known a3
Bethiune Female School?

(i Armde Hesant

il Debendmnath Tagore

fel  Tebhwar Chandra Vidyassgar
jell  Sarojini Naidu

47. In the contest of Coloninl Todin, Shah

Wawas  Khan, Prem Kumar Seheal

and Gurlaksh Singh Dhillon  are

remembered 1

fal leaders: of Swadeshi and  Bovoot
Movement

flsf  members af the Interim
Oovermmnent me 1945

fel  members of the Dmafting Comimittes
in the Constituent Assembly

fif] oMicersof the Indian National Army

PRG-I 6RA

48. With reference to Indian history, which

of the [llowing slatements isfare

correct?

1. The Nizgamat of Arcol emerged out
of Hyderabad Stete,

2. The Mysore Kingdom emerged ouat
of Vijavanagara Bmpire.

3. Hohilkhand Kirgdom was formed
out of the ternfones accupled by
Abmud Sheh Durranl,

Select the correct answer using the

code- given below,

fad 1 wnd 2

b} 2 omly

fe) @ and 3

fd) 3 only

49. Which one of the following steiements

8 correcl?

fo) Ajanta Caves lic in the gorge of
Waghora river.

b} Banichi Stupa lss in the gorge of
Chambal miver,

fe}. Pandu-lena Cave Shrinea lie in the
garge of Narmada river.

fi] Amaoravatd Stuph Bes in the gorge
of Godavan nver.

80. Co#nider the following staicments :

1. Zist Februnry ™ declared 1o, be
the International Mother Language
Day by UNICEF.

2. The demand that Bangla has io be
one of the netional languages wes
ratard in the Constituent Asscmbdy
of Palbetan.

Which ef the sbove atstemenis isfare

cormecty?

fa} 1 only

M} 2 only

el Both 1 and 2

d] Neither 1 nnr2

| B0,
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Bl. How i permoculture farming different

vom: conventional chemical farming?

. Permsoultore farming: discourages

monocultural practices but in
comventioral  chemical  farming,
monoculturm practices  are  pre-
domirmant,

2. Conventional chemical farming oan
cavnse incresse i soil  salinkty
but Lhe oecurrence of wsuch
phenomenon is not cbserved in
piettroulture. farming,

3. Canventivnal chemicul farming s
easily posaible in semi-arid regions

but permaeculture farming is not ao
easily possible in! such regions,

4. Practice of mulching i vory
imporiani in permaculture farming
buk. nol  necessarily so  in
comsentionnl cheémies] farming,

Select the eorroct pnswer using Lhe

code given below,

Ml | emd 3

fi) 1, 2 and 4

fed 1 emly

fdl 2 und 3

53. With rofevence to *palm ofl’, conaider the

fullowmg matements ;

I. The palin oil tee I8 fotive o
Southeast Asia,

2, The palm oil is & maw material for
some industries praducing lipstick
and parfumes.

3. The palm ol can be used o
produce hicdiesel

Which of the slalements given above

e correct®

fal 1 and 2 only

), T and 3 only

b 1 -and 3 only

) 1,2 and 3

HXC-L-FTHI/68A

83. With reference to the Indue river system,

of the following four rivers, three of
them pour into one of them which jolns
the lodus direct. Among the following,
which one i such Tiver that joins the
Indus direct?

fu} Chensh
M) Jhelum
e} Ravi

i) Sutlef

54. With meference 19 India, Didwans:

Ruchaman, Sargol and Khatu are the
names of

{4} glnvicra

b} mnngrove sreas
ff Ramesar siles
fd] saline lakes

85. Conumider the following rivers :

1. Brahmam
2, Magavali
3. Subamarskla

4, Vamsadhurs

VWihich of the sbove Hee frem' the
Hastern Ghats?

fa) 1 and 2
bl 2 and'4
el % oand 4
fel 1 and 3

| BTG,
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56, Conaider the following statements :

1. The Olobal Ocean Commisston
grants  licetces for  seabed
exploration @nd mining
internationnl watera.

2. India has received licences for
seabed  minernl exploreton  in
inlernational waters,

3. 'Rare earth minersls’ are present on
seafloor in intermationel waters,
Which of the statements given shove

are cotrect?

fa) 1 and 2 only

fof 2 and 3 anly
el l-and 3 only
fef} 1, 2 and 3

87. Among the following which one is the

Ieast water-cfficient ¢rop?
il Supgarcans

My Sunfower

fe]  Pear] millet

{d} Red gram

58. Conmder the Mmllowing statements :

1. In the tropical zone, the westem
sectione &f (he oceans are warmer
than the saslern scotions owing to
the influence of trede winids:

2. In the \emperate zone, westerlies
make the castern sections  of
preans warmer than the westerm
Rectiine,

Which of the statrments given ahove
infare ourrect?

fa 1 only

(b} 2 enly

o Botit I and 2

fd)  Neither 1 nor 2

BXC-U-FTHI/68A

59. In the context of India's preparation for

Climate-Simarl Agriculture, consider the
following statements ;

1. The 'Climate-Smart Village'
approach in India is- 8 part aof
o project led by the Climale
Change, Agriculiure and Food
Becurity [CCAFS), an international
TEscarch programime,

2. The project of CCAFS is carried
out under Consultative Group an
International Agricultural Research
(CQIAR) hesdguartered in France,

3. The Internationsl Crops Research
Institute for the Semi-Aritl Tropics
[CRISAT) in India is ane of the
COIAR' rescarch centres,

Which of the statements given above
BTE Eorrec ]

jeg 1 Bnd 2 only
fh) 2 and 3 enly
fe 1 and 3 only
fdl 1,2 and 3

60. "Leaf litter decomposes laster than in any

other blome and ss & result the soil
surfsce is ofien almest bare, Apart from
trees, the vegetation is largely composed
of plant forms that reach up intg the
canopy vicariously, by climhing the
trees of growing as epiphyvies, tooted
on the upper branches of trees.” This js
the most likely description of

fo) econiferous forest

o) dry deciduous fprest
fel  mangrove forest

fel) tropical rain forcet

| F.T.0.
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61. The wepetation of savennsh vonsists of 63. Comnsider the following etatéments ;
grussland with scattered -small (rees,

but exiensive arens heve no trees. The L. Moringa (drumstick tree) is a
inresl devolopment i such areas |s Eﬁrﬂiﬂfﬂﬂﬂl EVRrgrecn: e
generally kept in check by one or more

or & combination of seme conditions. 2 Tamarnd tree is  endemic o
Whicly of the following are aueh Sauth Asia:

contitions?

- 3. In India, most of the tamarind s
I, Burrowing animals and termiies collected as minar forest produce.

2, Fire

4. India exports lmmarind snd sesis
3. Grazing herbivores: of moringn,
3

Beasonnl rainfell
;5 a3, Seceds of moringa and  tamarind
5, Boil propertics G- BE (ke 45w ronlicifion of
Select the correct answer using the Bialuels -
cotde given below,

Which of the slatements given ahave

Ry, 2 4a:3 nre correct?
B} 4 and 5
fe 2,3 and 4 fa) 1,2, 4:and 5
fd] 1,3 and &
i 3, 4 and S
62. With reference to the water an t{he
pPlanet Barth, consider the follewing fgi 1, 3 and 4
stalemenis :
1, The amount of water in the rivers fd} 1,2 3and 5
and lakes is more than the amount
of groundwater,

4. The amoumt of water in polar
e capa & glicters i more than
the amount of groundwater.

4. The black cotton sall of Indis has Been
formed due to the wrathering of

FU]'.I:i:I’_h ol fhe statements given  above fa) bBrown forest soil

isfam corpeot?

fa} 1 anly fb] Tfesure voleanie Tock
2 ol

b ! foi  granite amd schist

fo} Both | and 2

fed]. Weither I nor 2 il shale and Timestone

BXC-U-FTHI /6BA 20 | BT.0.



66. ‘prElim (i) 9w TeE R el

T F e T v &, Feiien s ow

T Hifa

1 Al e s S
=1 T fa by

0. wEmE s R v e
() % w8 T wn &

e w8 A B

fe) A L

bl FEE 2

fe} 1 masE

fdf aml#Eada

66, FAEEE T F e A, Frefaian weE T

fo=m #ifam

|, wEE Heors (g A R mm
e W WE 0 gEsE s
{mdeess fedwde) SEEmoEm
g (e Tesfe) 4
wA-Tra W wAm g W | U =
1

9 fadt wmA g T STE
# quia: T & = A By fm oA

T e B B - A BT

faal FAE 1

i} HEE R

(o) 132 @E

fd) AW LA 2

67. stwme-1 & g deiPEE = osga
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65. With releretice o tocent developments

regerding ‘Recombinant WVeolor
Vaccines', consider  the  following
RiniEmersty

1, Qenetic enginesring is applied in
thie developmeni of these vaceines,

& -Bacterin snd viruses ar used as
vaclors,

Which of the stalements given above
isfare corroct?

faf 1 enly

B 2 only

f&) Both 1 and 2

fell Neither 1 nor 2

66. In the context of hereditary discases.

conwider the fllowing stalements

1. Passing on mitbchondrial digseases
from parent o child can
be prevented by mitochondrisl
replacement therapy ecither beforn
or afterm wiro fertilization of rpg.

4. A chid inherite mitochondrisl
diseases entirely from mother and
nol from: falher,

Which of the statoments given above
lafare cormect?

faf 1 omly

fbj: 3 anly

fal Bath 1 and 9

(e} Neithet 1 nor 2

67. Bollgard | and Bolleard T1 technologics

are mentioned in the comtext of
faj  clmal propegation of crop plants

) develaping  genetically modified
crop plirnts

&} production of plant growth
subetatices

fl production of biolerilizers

E}EE—U—I"T]:I.IJEM

a1

68, In a pressure cooker, the temperature

at which the food s cooked depends
mainly upon which of the following?

l. Area of the hole m the hd
2. Tempeeatiire of the flame
3. Weight of the Hd

Select the carrect answer using the
code given helow,

ff 1 mnd 2 only
&) 2 and 3 only
fc) 1 and 3 only
fdf 1,2 nrd 3

68. Consider the following :

1. Bacterid
2.  Fungi
3. Wiros

Which of the above can be cultured in
artificlal fsynthetic medinm?

fif 1 and 2 only
fbl 2 and 3 only
fer. 1 and 3 only
Ml 1,2 and 3

70, Consider the ollowing statements

1, Adenoviruses lave single-stranded

DNA penomas whereas retroviruses
have double-stranded DNA genomes.

1. Common cold is sometime caused
by an adenovirus whreas AIDS fy
cnussd by a retrovirus,

Which of the statements given nbove
lafare éorreot?

fal 1 anly

M} 2 only

fe) Both 1 and 2
(d} Neither 1 nor 2

| P.T.O.
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T1. Watir can (issolve more substances than 74. Bisphenol A [BPA), n cause of voncern,
any ather Hgquid because ia & strictural/key component in the
@ it is dipolar in, nature manufocture |.::I' which aof the Tallowing
kmds of plastips?
(b} it is & pood conductor of heat
fol, it has:high vaive of apeiiic’ heit fre)  Low-denmity polyethylens

fed} it ts an exide of hydrogen B} Palvearbonale

T2. With reforence to street-lighting, how do fe} Palyethylene terephthalate
sodinm lamps differ from LED Tamps?

d) Polyvinyl chlaride
1. Sodium lamps produce light in fd) Palyvinyl ehleri

3671 degrees but it is not =0 In the

gase of LEL lempa.

T5. "Triclosan’, coneidered harmful when
exposed to high levels for a long time,
is most likely present in which of the

2. As street-lights, godium lamps have
longer life span than LED lampas.

a. The epectniim of wisible  light following?
fram sodium lamps is  almost
monochrovmntic while LED 3amips () Food preservatives

affer significant colour advantages

in atreel-lighting M Prditerpening subhatances

Select the cormect answer wsmg the

eode given below, fe), Roused plastic contminers
el 3 anly fdl Toiletriea
() 2 oniv

fel 1 and 3 only
76, Which one af the [ilowing is a

fedf 1, 2 and 3 regson  why astronomical  distarices
ame measured i Hght-yemrs?
73, The term ‘ACE2' is talked mbout in the

context of faj Distances among stellar bodies do

nol change.
fmf  genes introduced o the genetically

mgdified plants B Gravity of stellar bodies does not

ity development of India's own satallite change.
navigation systern

fe) radio collars for wildlife tracking toy kst whsirs iradls du sty e,

o} spread of viral discases fd] Speed of light is alwnye siime,
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T7. We adopted parlamentary democracy
based on the Hoish model, but how
docs eur model differ from thot mode]?

l. As rogards legislstion, the Britsh
Parliament is supreme or sovereign
but In Indin, the power of the
Parlinment to legisiate |s lmited.

2 In India, matters related 1w
the  constitutionality of the
Amendment of an Aot of the
Parlinment are referred o the
Constifubion  Bench by the
Bupreme Court.

Select the correct answer using the
code given below,

fa) 1 anly

fbl 2 enly

fel Doth 1 and 2

fel] Meither 1 nor 2

T8. With reference to the Unfon Government,
eonsider the fallowing statoments :

I. N Gopalamwamy hrengar

Committee - suggested that &

minister and a  secretary be

desigriated solely for pursoing the
subject of sdminigirative reform

and promoting |,

2 1870, the Department
of Peraonnel was  constituted
pn the recommendation  of
the Adminiatrative Reforpm
Commission, 1966, and this was
plaged under the Prime Miniaters
charge,

Which of the statements given above

is/are correct?

fm) 1 only

fif 2 anly

fel Both 1:aod 2

fd] ‘Neither 1 nor 2

BRC-U-FTHI/68A

79. Right to Privacy' s protected under
which Article of the Constitution of
IncHa?

fa) Articla 13
b Article 10
fe) Article 21
fdl Article 29

80. Consider the following slatements *

L. In India; there is no law restricting
the eandidates from contesting in
ome Lok Sabha electlon from three
conetitueniem,

2. In 1991 Lok 8Sshha Electon.
Shri Devi Lal contested from three
Lok Sabha comstituencies.

3. As per the cxisfing roles, if
a candidale contests in onec Lok
Faphe  election  from  many
constituencies, his/her  party
should bear the cost of bye-
electiong o the conattuencies
vacated by him/fher in the event
of him/her winming in sl the
conatituenciasg,

Which of the stalcments given sbove
hf'an: earreoty

Jfa) 1 onky
] 2 only
feb 1 and 3

fal 2 and 3

| PT.O.
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B1. Conaider the following statements

1. ‘Right 1o the CHy" is an uprocd
human right and the UN-Habitat
monitors the comtmitments made
by esach countey in fhis regard.

Right ™ the City' gives every
pocipant of the city the right to
reclaim public spaces and public
Eartcipatint in the clty,

5

4. ‘Hight to the City' means that the
State cannot desy mny public
pemvice  or fesflily @ the
unautharized golonies in the eily.

Which of the statements given above
isfare oormect?

fe] 1. only

(b 3 only

fef 1 mnd 2

fef 2 and 3

B2, With reference to Indis, consider the

Tnllowing atatements :

Lo Judicia? custody moans an srcgsed
in in the custody of the doneerned
magmsirnle and esuch aocused s
focked up in police station, not
in' jail

2. Dunng judicial ctstody, the police
officer In charpe of the case §& not
allowed 1o interrogate the suspect
withoutl the spproval of the gourt

Which of the stalements given above
1t /mre earrect?

fal 1 only

fbo) 2 enly

el Both 1:and 2

el Nesthar | nor 2

BXC-U-FTHI/68A
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83. With reference to India, consider the

follywing stmiements

I When a prisoner makes out
i sufficient case, parole cannnt be
denind te such | prismier becauss
it beacomes a matter of his/har
right.

2. BState Governments have their own
Frisemers Releass on Parole Rules.

Which of the statements given above

is/are correct?

fa) 1 anly

() 2 only

jg) ‘Bath 1 and 32

fefj Meither | por 2

B4 Al the national level, which trinistry is

the nodal ageney to ensure effective
implementation of the Scheduled Tribes
and Other Traditional Forest Dwellsrs
(Recognition of  Porest Righta) Act,
20067

faf Ministry of Environment, Forest
and Chmeate Change

(b Ministty of Panchavati Haj
{e}  Minimtry of Rural Dewelopment
() Ministry of Tribal Affairs

B5. A logislation which eonlers an the

executive or administrative suthority
BD ungiiided’  ond uncantralizd
discrelionasy power In the matter of
appheation of law. viclatea which one
of the following Articles of the
Constitution of India?

fa)  Areicle 14
By - Article 28
el Article 32
fd)  Articic 44

|ET.0,
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B5. Which one «of (he following m Indian
polity. is an  essential festure Lhat
tndicates that it 48 federal in charncter?

f} The independence of judiciary s
siafeguardod.

fb). The Union Legislaturo has elscted
representatives | [rom  conatifuent
unils,

fe} The Union Calinet ean  have
alpcied representatives from
reglonal parties.

fdf The PFundamental Rights are
enforceable by Courts of Law,

B7. Which one of the follawing best defines
the lerm  "State?

() A Oy oo pRFROnE
permanently ocoupyving & definite
territory  independent of external
cantrol ail posscaging A
orpamzed  governiment

B} A politically organized peopls of
a definite tervifory mnd pessessing
an -authority fo govern  them,
muintain law end order, protect
Lhetr natural rights and saleguard
their menns of sustenancs

fal A number of parsons who have
been living in a definite territory
for & very long time with their oum
culture, tradition and governmeni

(d} A scciety permanently living 1o
8 deflimite territory with & central
authority, an execitive responsible
o the cemtral authority and an
mdependent judiciary

BXC-U-FTHIf68A
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BB. With rseforence to  Ihdion judiciary,

congider the following statements :

L Any retired judge of the Supreme
Opurt of India can be called back to
8 und act &8 W Supreme. Court
judge by the Chief Justice of
Indin with prior permission of the
President of Indin,

2. A High Court in India has the
power to review its own judgement
a8 the Supreme Court does,

Which of the statements given above

isfare Gorrect?

faj ' 1 only

fb) 2 only

fe! Both | and 2
fef) Neither | nor 2

89. With reference to India; conmider the

following stalements |

l. There is only ane cliisenship and
one doimicile.

2. A citizen by birth only can become
the Head of Siate,

3. A  foreigner once granted. the
citizenship cannot e deprdved of
it under any circumstances.

Which of the siatcments given above

isfare correct?

fef 1 opnly

B} 2 only

fe 1 and 3

fdf 2 arel 3

90. Which one of the following factors

canstitites the best safcguand of liberty
i & bbergl democracy?

fal A commiited judicianry
(o) Centralization of powers
fol  Elected povernmernt

{d] Separntion of powers

[ PLT.0,
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21. Under the indian  Conafitition, 94, Constitutionul povernment mesns

coticentration of wealth violntes .
fa) & representative govermment  of
a nation with federal structure
fal the Right to Egquality
(B} a government whose Hend eénjoys

minal ;
(b the Directive Principles of State siigimariank oty

Policy fe) & government whose Head enjoys
renl powers
f¢} the Right 1o Freedom () ‘& govermment limited by the terms
= of tha Conatitution

fed) the Concept of Walfare

5. With reference to Indis, the terms
‘Halbi, Ho and Kui' pertain to

92, What im the position of the Right fo g} dance forms of Northwest India
Fraperty in India? b} musieal [nstruments
fa) Legal right available (o citizens anly fef prechistaric cave paintings
{d] tribal langusges
(b} Legal right available to any persan
96. Conmider the following stotements ino

fe} Fundamental Right available to respect of Bharat Ratna and Padms
citizemn anly Awards ;
1. Bharal Ratna and Pedma Awards
fef} Neither Fundaments] Right nor are titles under the Article 18(1) of
legal right the Conatitution of India.

4. Padma Awards, which were
ingtifiited in the year 1954, were

93. What was the exact constititional staltus suspended only once,
of Indis on 26th January, 19507 J. The numbor of Bharat Ratoa
Awards is restricted to & maximum
fa) A Demoecratic Repuhblic of five iIn & particular vear,
[ Which of the shove statements are
(b) A Soverrign Democratic Republic not carroct?
) A Sovermign Secular Democratic fe) 1 and 2 anly
Republic fb) 2 and 3 anly

| d 3 |
] A Bowversign Socialist Secolar fed =7 e

Democratie Republis fid) 1, 2 pnd 3

BXC-U-FTHI/6BA 41 | FT.0,



o7, Freifaftes s w e fE
0 A

e TR S T T (e We Hie Ea e ]
A A 2 SRR 7 R OB W T
=t faw W 2020 28 TR OH A OEH
1 B

Lo e

Wl =i E wER I R wE CE W
i 7 2aR g Remar o o F
for g W B WA T

e s ¥ W ¥, Fefefm 8 4 S9-.

o A

) w1 s oweR 2 g6 oEd R
i 2, A 1 T = R

mp = 1 Al w2 A = E R
WO 3, T 1 W = A e

fe) TR 1 WER, Feg TR 2 R

Iy wws 1w R, g e 2 WE Y

eg. wi 2000 & win fBwm om whme Fy oa

T (e wvd v s ¥ e A

Eriferfan s o famm Fmam -

1. 3miR e Fepd Tw ogsw B
g T e e

g, W e ar ywEn s wm
% Tamtan =1 R

3. s feie = o O e S
e T w i 9w T

Fodm weA # & Al e R

fa) = 1 dm2

{b) FE 203

fe) AW 1 #3

@ 1,293

BXC-U-FTHI/68A

99, 304 TeETEE SENE e R, i

= w1 Toram =i

1, TH HiEfm s iaEE SmE A
w4k g (L EEE) R

3. AEmEE | OWE wEEET, wl,
Eroatin, w2 T SuEa FOwHe
P = R
v e A R e Se-a R v
fa} FEE 1 .
by e 2
e 1 Fma2 e

fd) T4 HTAE 2

100, 3Es He o AeE = Ihmalim & @ 4,

T = o ST e

1, sifm 3% 4 ofed I 2w P,
T o0 AW T A R W S SR
gt faar T

9 SEEGE B OWE TEE # R W,
T etz it e 4 i i A

i w8 e R A
() R 1

b FEE 2

) 1R 27

) AW A2



27. Consider the follawing statements :

Btatement 1
The United Natons Capital
Development Fund [UNEDHY and
the Arbor Day Foundation have
recently. ricopnized Hydernbad ss
2020 Tree Oty of the World.

Statement 2
Hyderabad was selected for the
recognition for & year following ifs
commitmen! o grow and maintain
Lthe urben lorests,

Which one of the following is correct n

respect of the shove siatements?

fa} Bolh Statement 1 and Statement 2
nre correct and Eatement 2 in the
parrect explanmtion for Statement 1

{4 Both Statemient 1 and Stalement 2
are correct  bot Statement 2 ia
not the torrect explanation for
Stabement |

fc} Stajement 1 i correct But
Stalpment 2 is notl correot

fef} Statement | {s not correct but
Statement 2 is corredt

98. Consider the Tollowing statements in

respect of the Leureus World Sports

Award which was tnsttuted in the

year 2000 -

1.  American goller Tiger Woods ‘was
the firat winner of this pward.

2, The awsrd was roceiyed mastly by
Formula One” playern 8o far.

;. Bogor Federer receiviad this -award
meximium number  of  fimes
compared (o others,

Which of the above statements are

eirroot?

fa) 1 and 2 only

) 2 end 3 only

fet T oand 3only

(d) 1,2 and 3

BXC-U-FTHI/BRA

99. Consider the fllowing statements in

raspect of the 3dnd Summer Olympics ;

1. The sfficial motto for this Olympics
i3 A New World"

2. Bport Climhine, Surfing,
Skateboarding, Karste and

Baseball are included {n  this
Qlvmpics,

Which of the above statements is/are
corren| P

faf 1 only

il 2 only

fof Both | and 2

fdf Weither 1 nor

100. Consider the following statements in

respect: of the ICC Wordld Tesi
Champlonship

1. The finalists were decided by the
number of matches they won,

2. New Zesland was ranked ahead
of England because it won more
mitches than England,

Which of the above statements is/are
cirTent?

fa) 1 only

(bl 2 omly

fe) Both 1 and 2

e} Nelther 1| noe 2

[P.T.0.



SPACE FOR ROUGH WORK

AXC_T-FIH]/68A a4




SEPACE FOR ROUGH WORK

BRC-LU-FTHI/68A 45 [ PT




SPACE FOR ROUGH WORK

BXC-U-FTHI/68A L ]




SPACE FOR ROUGH WORK

BYC-U-FTHIfGBA 47 J1B5—11 14464



DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO BO

T.B.C. : BXC-U-FTHI Test Booklet Beries

Serlal No.

TEST BOOKLET
GENERAL STUDIES
Paper—I

. Time Allpwed : Twa Hours Maximuom Marks ; 200

3,

10,

INSTRUCTIONS

. TMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK

THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN QR MISSING PAOES
OR ITEMS, ETC. IF S0, OET IT REPLACED BY A COMPLETE TEST BOOELET

_ Please note that it is the candidate's responaibility to encods and fill in the Rall Nnmber

and Test Booklet Series A, B, C or D car and without any omisalon or ﬂllnI':El.ncy at
the appropriate places In the OMR Answer Bheet. Any omission/discrepancy render
the Anmwer Shest llable for rejaction.

You have te enter vour RBoll Number on the Teat Booklet m
the Hox provided alongside. DO NOT write anything else on
the Test Bookket '

. "Fhis Test Bocklel conitaing 100 items [guestions). Each item is printed both m Hindd and English.

Each jtem comprises four responses (answers]. You will select the respanae which vou want to
marl an {he Anawer Sheet, In case yvou feel that there 38 more than one Cormect response, mark the
responae which you consider thie beat. in any case; chooas ONLY ONE response for each-item.

. ¥You have 1o mark all your responses ONLY on the saparate Answer Bheet provided.

Sea dircctions in the Answer Sheet,

. All {tems carry equal marks,

Before you procesd to mark in the Answer Sheel the response bo various items in the Test
Booklel, yoz have to fill In some parbiculars in the Answer Bhect as per instrootions senl 1670
with, vour Admission Certificate.

. Aftervou have completed filling in all your responses on the Answer Sheet and the examination

ke concluded, you should hand overto the Invigilator only the Answer Sheef, You are permitised
to take swey with you the Test Booklet.

. Sheets for rough work are appended in the Test Booklet al the end.

Penalty for srong soswers |

THERE WILL BE TENALTY POR WRONG ANSWERS MARKED BY A CANDIDATE IN THE

ORIJECTIVE TYPE QUESTION PAPERSE.

[i] There are four altermatives for the answer o every gquestion. For ench fuestion for which &
wrong answer has been E_i-.,rm-n by the candidate, eone-third of the ma gasipned o Lhat
question will he deducted a8 penalty.

[il] & candidate gives more than one answer, it will be treatad ge e wrong answer cven if one of
the giver: answers happens to be correct and thers will be same penally s above to that
quEato.

(ifij If & question is lefl blank, Lo, no answer is given by the candidate, there will be ne penalty
for thal gquestion.

DDHﬂTﬂPﬂTHETEETEUDﬂETEHTILTﬂUﬁHETﬂLDTﬂDHEﬂ

T 7 5 TRE W TR BT 3 qi=rw] i AR




